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Seventh Semester B.E. Degree Examination, December 2010
Object Oriented Modeling and Design

: 3 hrs. _ Max. Marks:100
Note: Answer any FIVE full questions, selecting
at least TWO questions Jrom each parr,

PART - A
What is object orientation? Explain briefly the stages involved in QOO methodology, (10 Marks)
Use illustrations and explain the following with UM, notations:
i) Ordering the objects for an association end
i) A multilevel inheritance hierarchy with instances. (10 Marks)
What is an event? Explain various kinds of events, using UML notations, - (10 Marks)-

A simple digital watch has a display and two buttons, A and B to set it. The watch has two modes of
operation, display time and set time, In the display time mode, the watch display hours and minutes,
separated by a flashing colon. The set time mode has two sub modes, set hours and set minutes. The
A button selects modes. Each time it is pressed, the mode advances in the sequence : display, set

state diagram of the watch, ' (10 Marks)

- What is a nested state? Hlustrate the importance and usage of aggregation concurrency, with the help
of a state diagram, (10 Marks)
Consider shopping in a physical bookstore of super market
i} List three actors that are involved in the design of a checkout system. Explain the relevance of

each actor. : '
iy  Take the perspective of a customer and ljst two use cases. Summarize the purpose of each use
case within a sentence.
i)  Prepare 2 use case diagram for physical bookstore checkout system,

iv)  Prepare a normal scenario for each use case., {10 Marks)
Explain the foliowing development life cycle for software using OO approach: :
i) Waterfall development i) Tterative development, (10 Marks)
How are classes identified in a domain class model? Briefly explain, (04 Marks)
For an ATM bank system, prepare a data dictionary for all modeling elements. {06 Marks)
PART -8B

For an ATM system, prepare a normal scenario for process transaction and also give a sequence
diagram for the process transaction scenario, (16 Marks)
Name the three kinds of control for the external events in a software system. Also describe each
control very briefly. (10 Marks)
What tasks are involved in the process of design optimization? Explain any one in detail.

(10 Marks)
Cleatly distinguish between forward engineering and reverse engineering, (06 Marks)
Write briefly on association traversal, (04 Marks)

What is a pattern? How is it categorised? Describe any one category, with an example, (18 Marks)
Briefly discuss the structure of the client-dispatcher-server design pattern using CRC. (16 Marks)
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